1. Patients with close femoral fracture, the body temperature could most likely be
A. normal in the morning and fever in the afternoon
B. Usually under 38 ° C
C. irregular
D. above 38 ° C
E. under normal body temperature
2. Which part is prone to avascular necrosis after fracture 
A. femoral head
B. radial head
C. distal clavicle
D. proximal ulnar
E. patella
3. Fracture at the lower one-third of humerus is often complicated by
A. brachial artery injury
B. median nerve injury
C. ulnar nerve injury
D. radial nerve injury
E. biceps rupture
4. The most important factor that affecting the healing of fracture is 
A. fracture type
B. blood supply of the fracture area
C. patient age
D. systemic nutritional status
E. whether the patient has metabolic diseases
5. Which one is NOT true?
A. multiple fractures tend to cause shock
B. the fracture diagnosis must be based on the X-ray examination
C. Some fractures only exhibit pain, swelling and dysfunction
D. Ecchymosis is more common in the superficial fracture
E. deformity is one specific sign of fracture
6. The most common complication of intra-articular fracture is 
A. traumatic arthritis
B. avascular necrosis
C. myositis ossificans
D. heterotopic ossification
E. nonunion
7. The following signs, which one can be diagnoses as fracture?
A. swelling heavily and tenderness
B. local fever 
C. a dysfunctional joint
D. deformity and abnormal motion
E. ecchymosis and numbness on a limb
8. The deformity happened in ulnar nerve injury is
A. claw hand
B. ape hand
C. dysfunction of fingers extension
D. dysfunction of fingers flexion
E. fingers can not draw together
9. To treat open fracture, which one is wrong?
A. washing enough 
B. clearing all necrotic tissue
C. if possible, do not use tourniquet
D. removing the free bone
E. do not use the brush
10. Among the following types of fractures, the most unstable type is
A. embedded fracture
B. oblique fracture
C. transverse fracture
D. greenstick fracture
E. crack fracture
11. Distal femoral fractures could easily lead to backward angular deformity, because of
A. the violence direction
B. weight of the limb
C. muscle traction
D. improper fixation in first aid
E. improper transport
12. Common complication of extension type supracondylar fractures is
A. ischemic necrosis of the humerus
B. neurovascular injury
C. local infection
D. fat embolism
E. traumatic shock
13. The most diagnostic sign of Colles fracture
A. local swelling
B. typical deformity
C. local tenderness
D. abnormal motion
E. limited hand function
14. Lower extremity fracture with the leg 900 external rotation , the most likely injury is
A. Intertrochanteric fractures
B. femoral neck fracture
C. femoral shaft fractures
D. distal femoral fracture
E. central dislocation of hip
15. The surgical indication for of cervical spondylosis is
A. neck pain with hand numbness
B. headache, dizziness, vertigo
C. severe neck and shoulder pain, X-ray shows spines degenerated and disc space narrowing
D. recurrent severe symptoms, spinal cord compression or paralysis risk
E. neck and shoulder pain, hand muscle strength weakened, headache, dizziness
16. A middle-aged man, heavy lower back pain after lifting heavy things, with right lower extremity radiation, coughing make the pain worse, the diagnosis may be
A. lumbar fracture
B. lumbar spondylolisthesis
C. waist muscle fasciitis
D. lumbar disc herniation
E. back sprain
17.a 48 years old female patient with neck and shoulder pain for more than five years, a numbness of the limbs, see the the hands ulnar following skin hypoesthesia in ulnar sides of both hangs, lower limbs muscle strength grade Ⅲ ~ Ⅳ, X-ray film of cervical bone shows obvious degenerative changes.  the most possible diagnosis is
A. tumor
B. nerve root type cervical spondylosis
C. cervical spondylotic myelopathy
D. Sympathetic cervical spondylosis
E. mixed cervical spondylosis
18. The most common reason of low back pain is
A. non-infectious inflammation
B. infection
C. tumor
D. degeneration
E. Structural defects
19. The best treatment for stenosing tenosynovitis is
A. physiotherapy
B. limit activities and cast immobilization
C. internal medicine
D. analgesics local patching
E. prednisolone acetate local injection
20. The main feature of osteoarthritis is
A. motion pain

B. rest pain

C. irregular pain

D. rainy day pain

E. cold day pain
21. A 65-year-old patient with left hip osteoarthritis, treatment should be preferred
A. hip arthrodesis
B. osteotomy
C. arthroplasty
D. joint debridement
E. drilling decompression
22. Frozen shoulder is
A. often occurred in children
B. an acute onset lasts about a few weeks
C. pain relief at night
D. a typical pain arc
E. limited shoulder abduction
23. The most common pathogen of hematogenous osteomyelitis is 
A. staphylococcus albus
B. mildew
C. staphylococcus aureus
D. coli
E. Pneumococcus
24. Abscess of pyogenic osteomyelitis in children often does not enter the joint cavity ，Because
A. strong resistance of the joints in children
B. the joint capsule has a protective effect on joint cavity
C. ascess easily to be limited and absorbed
D. ascess tends to spread to the soft tissue
E. mtaphyseal epiphyseal plate blocks off the abscess
25. To differentiate septic arthritis and joint tuberculosis, which one is NOT useful
A. a high fever and acute systemic manifestations or not
B. local redness, swelling, pain, and high skin temperature or not
C. increasing WBC in synovial fluid or not
D. floating patella test positive
E. the joint fluid culture Gram-positive cocci or not
26. For bone tuberculosis ，which of the following is NOT suitable for surgery？
A. obvious sequestrum, larger abscess
B. prolonged healing of the sinus
C. spinal tuberculosis with paraplegia
D. severe anemia and systemic poisoning symptoms
E. early total joint tuberculosis, in order to rescue a joint function
27. About acute hematogenous osteomyelitis ，which one is NOT correct？ 
A. common in children under the age of 10
B. occurred in the metaphysis of long bones
C. the most common pathogen is Streptococcus
D. x-ray is often normal in early days 
E. local hierarchical puncture is an effective method for diannosis
28. For enchondroma, treatment should be selected
A. bone graft after the lesion scraped totally
B. tumor bone segmental resection
C. amputation
D. artificial joint replacement surgery
E. combination of radiotherapy, chemotherapy, surgery
29. Which one is often seen in osteosarcoma?
A. occurred in the flat bones and irregular bones

B. after the onset of the rapid onset of paralysis
C. healing after fracture
D. venous engorgement
E. local mass, no tenderness, found after trauma
30. Which one is NOT a benign tumor?
A. Osteoma
B. Osteoid osteoma
C. Myeloma
D. Osteochondroma
E. Chondroma
1． 名词解释 
Pathologic fracture
Compartment syndrome
Cold abscess
2． 问答
1. What are specific signs of fracture?
2. What are principles of fracture treatment?
3. The clinical manifestations and treatment strategy of compartment syndrome
3． 病例分析
A female patient, 69 years old, with diabetes for 12 years. She knelt down to the bathroom floor at home and felt sharp pain in her left knee, then she could not move her left knee.
1. What fracture you consider?
2. What will you do if you are called to provide the first aid?
